
 

A Level Maths Year 1 Pure - Steve Blades 2023-2024 © - Full worked soluƟons are available at www.m4ths.com                         
 

 

(28) The Geometry of 
Straight Lines 

  

(1) Find the length of the line segment from (−1,8) 
to (7,2) 

 

 

 

 

 

 

 

(2) The line with equation 𝑥 + 𝑦 = 6 crosses the 𝑥 
axis at 𝐴 and the 𝑦 axis at 𝐵. Find the area of the 
triangle 𝐴𝑂𝐵 where 𝑂 is the origin. 

 

 

 

 

 

 

  

(1) The diagram below shows the graphs of 𝑦 = 𝑥 
and 𝑥 + 𝑦 = 8. The lines meet at the point 𝐵. Points 
𝐴 and 𝑂 are where the two lines meet the 𝑦 axis. 

 

Find the area of ∆𝐴𝑂𝐵 

 

(2) The length of the line segment 𝐴𝐵 is 4√2 . 
Given that the coordinates of 𝐴 and 𝐵 are (4, −1) 
and (8, 𝑝) respectively, find the possible values of 𝑝 

 

 

(3) The line 𝑦 =
ହ

ଶ
𝑥 − 10 crosses the coordinate 

axes at 𝐴 and 𝐵. Find the length of the line 𝐴𝐵 as a 
simplified surd. 

 

  

(1) The perpendicular bisector of the line through 
the points (−11,8) and (6,4) crosses the coordinate 
axes at 𝐴 and 𝐵. Find the area of triangle 𝐴𝑂𝐵 
where 𝑂 is the origin. Give your answer in exact 
form. 

 

 

 

 

 

 

 

(2) A line of gradient 1 passes through the points 
𝐴 (3,4) and 𝐵 (𝑝, 𝑞). Given that the length 𝐴𝐵 = 6, 
find the possible values of 𝑝 and 𝑞 giving your 
answers in surd form.  

 

 

 

 

 

(3) The lines with equations 𝑥 = 6 and 𝑦 = 2𝑥 + 𝑐 
enclose a trapezium of area 48 between the two 
lines, the positive 𝑥 axis and the positive 𝑦 axis. 
Find the value of 𝑐.  

 


